Topic 6 – Mole Interpretation : Mathematics of formulas and Equations
Lesson 2 – Mole Interpretation in Equations

Terms to Know
Mole Ratio – 

Coefficients –

To determine mole ratio of substances in a reaction
[bookmark: _GoBack]	INDICATE the coefficients of the substances in the question
	4NH3  +  5O2    4NO  +  6H2O
Mole ratio of NH3 to O2  is 4:5
Mole ratio of NH3 to NO is 1:1
Mole ratio of NO to H2O is 2:3
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In mole to mole problems, you will be given

* A balanced chemical equation (recipe)

* A follow up question that gives a different number of
moles of one of the substances in the equation

* You'll be asked to determine a number of moles of
another substance in the equation

Example
Given the balanced equation below
2C + 3H, > CHg
How many moles of C are needed to react with 12 moles
of H,?

2 moles C: 3 moles H, 2 =3
Xmoles C: 12 moles H, X 12
3x=24

x=8moles C




image2.png
In volume to volume problems, you’ll be given

* A balanced chemical equation (a recipe)

* A follow up question that gives a volume of a substance in
the equation

* You'll be asked to determine the volume of another
substance in the equation

Example

Given the balanced equation below

C;Hg + 50, > 3CO, + 4H,0

What volume of propane, C;Hg, will react to produce 9 liters

of CO,?

1 mole C3Hg: 3 moles CO,

X mole C5Hg : 0.4 mole CO, (9L /22.4L/mole)

1=3
x 04
3x=0.4

x=.13 mole x 22.4 mole = 3 liters
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In mass to mass problems, you'll be given

* A balanced chemical equation (a recipe)

* Afollow up question that gives a mass of a substance in the
equation

* You'll be asked to determine the mass of another substance
in the equation

Example

Given the balanced question below

2KCIO; > 2KCI + 30,

How many grams of KCl is produced by decomposing 100 g of

KClOo,?

2 mole KCIO3: 2 mole KCI

0.81 mole (100g/122.5g/mole molar mass) KCIO: x mole KCI

2 = 2
0.81 X
2x=1.62

x=0.81mole @ 74.5 g/mole = 60.345¢g




